Catalogue HY30-8249/UK Hydraulic motor/pump
Content Series F11

F11

Content Page
SPECIfICAIONS .veeeiii ittt 9
EffICIBNCY .. reeeee et 10
NOISE IEVE ...t e e s e e 10
Selfpriming speed and required inlet Pressure.........cccocccvie e eeree e 11
Ordering codes
T O O SRS ERR 12
T T SRS RRRRT 13
T Y R 14
Installation dimensions CETOP
L T 00 SRR 15
L T 0101 TR 0 0 PR 16
L T O PSRRI 18
FAT-0T4 i e 20
T 0 < T SRR 22
Installation dimensions ISO
T 0101 TR0 0 PRSP 24
T O 2SRRI 26
T O PP 28
Installation dimensions SAE
L T 0101 TR0 0 ORI 30
L T O 2 PSPPI 32
FT-0T4 e 34
F 1070 it 36
8 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Specifications Series F11
Frame size F11 | -005 -006 -010 -012 -014 -019
Displacement [cm?3/rev] 4.9 6.0 9.8 12.5 14.3 19.0
Operating pressure
max intermittent?) [bar] 420 420 420 420 420 420
max continuous [bar] 350 350 350 350 350 350

Motor operating speed [rpm]
max intermittent ¥ | 14 000 | 11200 | 11200 | 10300 | 9900 8 900
max continuous ® | 12800 | 10200 | 10200 | 9 400 9 000 8 100

min continuous 50 50 50 50 50 50
Max pump selfpriming speed 2
L or R function; max [rpm] | 4 600 - 4 200 3900 3900 3 500
Motor input flow
max intermittent!) [I/min] 69 67 110 129 142 169
max continuous [I/min] 63 61 100 118 129 154
Drain temperature?®), max [°C] 115 115 115 115 115 115
min [°C] -40 -40 -40 -40 -40 -40
Theoretical torque at 100 bar [Nm] 7.8 9.5 15.6 19.8 22.7 30.2
Mass moment of inertia
(x10%) [kgm?] | 0.16 0.39 0.39 0.40 0.42 1.1
Weight [kg] 4.7 7.5 7.5 8.2 8.3 11

1) Intermittent: max 6 seconds in any one minute.
2) Selfpriming speed valid at sea level. Find more info on page 11
3) See also installation information. Page 69

9 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK

Hydraulic motor/pump

Technical information Series F11
Efficiency
Because of its high overall efficiency, driving a motor/ (%] Volumetric efficiencies
pump from series F11 requires less fuel or electric 100 Ap [bar]
power. Also, it allows the use of a small reservoir and o - —— = = ===
heat exchanger, which in turn reduce cost, weight, and % [ _ == _= 800
installation size. T — —-200
92
90
The diagrams to the right show volumetric and 1000 2000 8000 4OOOSpeed [rpr?]OO
mechanical efficiencies of an F11-5 motor.
o4 Mechanical efficiencies
F11-19 motors can be equipped with Power Boost 100 sp (bar]
which in high speed applications can decrease the | D
mechanical losses by up to 15%, see page 7. 9% 800
94 — —-200
92
Contact Parker Hannifin for efficiency information on a 90
particular F11 frame size that is being considered. 1000 2000 3000 4000 5000
Speed [rpm]
. Noise level
Noise level [dB(A)]
Series F11 feature low noise levels from low to high 80
speeds and pressures. 5000 rpm
75
The noise level is measured in a semi-anechoic room, /
1 m behind the unit. As an example, the diagram to the 0
right shows the noise level of an F11-005. 3000 rpm
The noise level for a particular motor/pump may vary 65
+2 dB(A) compared to what is shown in the diagram.
60 1000 rpm
NOTE: Noise information for F11/F12 frame sizes 55
are available from Parker Hannifin.
50
100 200 300 400
Pressure
[bar]

Parker Hannifin
Pump & Motor Division Europe

Trollhattan,

Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump
Technical information Series F11

Selfpriming speed and required inlet
pressure

Series F11

In pump applications, the F11 with function L (counter
clockwise rotation) or R (clockwise rotation) is normally Function | L or R M H
used. The L and R (pump) provide the highest self

priming speeds (see table) as well as the lowest F11-5 4600 | 3800 | 3200

noise level. The M and H (motor) function can also be F11-6 3100
used as a pump, in either direction, but at a lower self F11-10 | 4200 | 3100 | 2700
imi . Inlet pres-
priming speed F11-12 | 3900 | - | 3000 sure
F11-14 | 3900 - 3000 gauge

Operating above the self priming speed (refer to
Diagram 1) requires increased inlet pressure. As an
example, at least 1.0 bar is needed when operating
the F11-19-M as a pump at 3500 rpm. An F11 used
as a motor (e.g. in a hydrostatic transmission), may
sometimes operate as a pump at speeds above

the selfpriming speed; this requires additional inlet
pressure. Insufficient inlet pressure can cause pump
cavitation resulting in greatly increased pump noise
and deteriorating performance.

F11-19 | 3500 | 2400 | 2100

Inlet pressure F11 Motor Inlet pressure F11 Pump
[bar] [bar]
F11-019 F11-012/014 F11-019 F11-012/014 F11-010
2,0 2,0
7 F11-006 7
; F11-010 2 / A F11-005
/ ’/ // // //
1,5 7 1,5 /
/ / / / F11-005 aAVaps ///
AF11-
1.0 / ,’/ // 7 1.0 / ’/ // 1/
! / ,/ / // ’ / /( /’ /'
/ / 4 / /
A i das,
05 A A7 0.5 AL
' (y 7 ’ / L
/I//'/ // // 7 r/‘
0 y. VAP 2 0 s A1
17 .7 7 b
AN
0.15 bar vacuum 0.15 bar vacuum
[ R O [ ) B
-0,5 -0,5
0 1000 2000 3000 4000 5000 6000 7000 2000 3000 4000 5000 6000 7000 8000 9000
Selfpriming speed [rpm] Selfpriming speed [rpm]
Diagram 1. Min required inlet pressure for Motor. Diagram 2. Min required inlet pressure for Pump.

The inlet pressure can be charged by external pump, pressurized reservoir or using BLA Boost unit
Find more info about the BLA unit at page 68.

11 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Ordering codes Series F11
F =] J=JL JL =L L = = = L =
| | | | | |
F11-CETOP Frame Function M|ain Mounting Shaft Shaft Version Op!ion Opti|on
size ports flange  seal number page 6 page 7, 67
Frame size Version number
Code | Displacem. (assigned for special
(cmd/rev) versions)
005 4.9
006 6.0
010 9.8 Frame size 5|6|10{12|14{19
012 12.5 Code |Option
014 14.3 0000 [Standard X | X|X|x]|x]|x
019 19.0 MUVR|Make up/Anti == 1)) (X)) (x)
cavitation valve
clockwise rotation
Frame size 5(6[10[12]14[19 MUVL |Make up/Anti - | ()] (x) ()
Code [Function cavitation valve
counter clockwise
M |Motor X | X | X | -]|-]X rotation
Q |Motor, low noise X |- | X | x| x| X
S |Motor, high speed - )]0 (%)
H |Motor, high pressure  [(X)| - [(X)| - | - |(X)
R |Pump, clockwise rot'n | (x)| - |(X)|(X)](x)](x)
L [Pump, counter clockw. | (X)| - |(X)|(X)|(X)|(x) Frame size 5|6 [10/12|14]19
For other versions, contact Parker Hannifin Code |Shaft*
K |Metric key X | X | X|X[x]|X
J  |Metric key )X X)) -] -
P |Metric key -l - -] -
Frame size 516 |10/12|14/19 A |Spline, DIN 5480 - [elx] -] -
Code |Main ports D |Spline, DIN 5480 X | X | X|X|X]|X
B |BSP threads X | X | X[ X|X]|X S |Spline, SAE )] -1-1-1-
U |SAE, UN threads () [ )] [ (x) [ (x) V |Tapered shaft - 1)) ()] (X)) (%)
*See also dimensional drawings on pages 15-23.
Frame size 5|6 (10{12/14/19 Frame size 5|6 (10(12|14(19
Code | Mounting flange Code |Shaft seal
C |CETOP flange X | X[ x|[x|[x]|x N |NBR, low pressure )] -] - ()
W |Saw motor flange - 1) () [() [(x) | (x) V  |FPM, high pressure, X | X | xX|[x|x|x
high temperature
S |PTFE, high speed - () () [ (x) ] (%) ] (%)
x: Available (x): Optional —: Not available
Frame size 516 (10{12|14|19
Code |Option
00 |[Standard X | X[ x| x|[x]|x

P_ |Prepared for speed sensor | - |(x)|(X)[(X)|(X)|(x)

B_ |Power Boost and Prepared| - |(x)|(X)|(X)|(X)|(x)
for speed sensor

_T |Painted Black ()| ()| (%) | (x) | (x) | (x)

12 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Ordering codes Series F11
Foj =L J=]L L= T = = = =1
F11-1SO Frame Function Main Mounting Shaft Shaft Version Option Option
size ports flange seal number page 6 page 7, 67
Frame size Version number
Code | Displacem. (assigned for special
(cmS/rev) versions)
006 6.0
010 9.8
012 12.5
014 14.3 Frame size 6|10|12|14
Code |Option
- 0000 |Standard X[ x| x|x
M siee & [0 [ [ MUVR|Make up/Anti )
Code |Function cavitation valve
M [Motor X | x| -]- clockwise rotation
Q |Motor, low noise - x| x|x MUVL |Make up/Anti - )] (X) [ (%)
S |Motor, high speed - )] ()| (%) gg\élrtl?gsglggll(\\lfise
H |Motor, high pressure -1 - - rotation
R |Pump, clockwise rot'n | - | (x)|(x)]|(x)
L [Pump, counter clockw. | - [ (X)]| (X)|(x)
For other versions, contact Parker Hannifin
F - s Tiol72l1a Frame size 6 (10|12[14
rame'\slllz.e Code|Shaft*
Code am. ports K |Metric key X | X | X|X
F |Metric threads - x[x|x J_|Metric key )| )| )
B B$Pthreads . X [(X) ] (x) (%) P |Metric key EEED
M |Side ports, metric - (X)) (x) | (x) A |Spline, DIN 5480 (x) | (x)|(x)] -
D |Spline, DIN 5480 X | X | x| Xx
V |Tapered shaft (X)) (X)) (x)
Frame size 6 (10(12|14 *See also dimensional drawings on pages 25-29.
Code |Mounting flange
I |ISO flange X | X|X|Xx
x: Available (x): Optional —: Not available Frame size 6 110]12[14
Code |Shaft seal
N |NBR, low pressure X)) -] -
V  |FPM, high pressure, X | X|xX|Xx
high temperature
S |PTFE, high speed (X) [ ()| (x)] (x)

Frame size 6 |10/12|14
Code |Option
00 |Standard X | X|X|X

P_ |Prepared for speed sensor | (x)|(x)|(x)|(x)

B_ |Power Boost and Prepared |(x)|(x)|(x)|(x)
for speed sensor

T |Painted Black (x)[(x)[(x)|(x)

13 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Ordering codes Series F11
MO0 OEOEOEL
F11-SAE Frame Function Main Mounting Shaft Shaft Version Option Option
size ports flange  seal number page 6 page 7, 67
Frame size Version number
Code | Displacem. (assigned for special
(cm?3/rev) versions)
006 6.0
010 9.8
012 12.5
014 14.3 Frame size 6 (10(12|14|19
019 19.0 Code |Option
0000 |Standard X | X|X|Xx]|x
MUVR|Make up/Anti = 1)) () [(x)
- cavitation valve
Frame size 6 (10|12(14|19 clockwise rotation
Code|Function MUVL |Make up/Anti = 1)) | (x)
M |Motor X| x| -|-]x cavitation valve
Q |Motor, low noise x| x| x| x counter clockwise
i rotation
S |Motor, high speed - 1)) ()] (x)
H |Motor, high pressure -l -] - X
R |Pump, clockwise rot'n | - | (x)|(X)[(x)](x)
L |Pump, counter clockw. | - | (X) [(X)]|(X)](X) Frame size 6 [10(12]| 14|19
For other versions, contact Parker Hannifin Code |Shaft*
T |SAE key - l- -l x| x
S |SAE spline X | x| x| x|x
K |Metric key X | X | X | x]|X
J  |Metric key X)) )] -] -
Frame size 6 |10/12(14|19 P |Metric key -] -
Code |Main ports V_ |Tapered shaft )1 [ ()] (x)
U |SAE, UN threads X|X]X|X|X *See also dimensional drawings on pages 31-37.
B |BSP threads () [ ()] ()| (x) [ (x)
Frame size 6 |10|12|14|19
Code|Shaft seal
Frame size 6 [10[12[14]19 N |NBR, low pressure | (X)|(x)| - | - |(x)
Code |Mounting flange vV |FPM, E!gn {aressure;, XX xpxgx
S |SAE flange X|X|[X|x]|x |g emperature
S |PTFE, high speed )| (X)) (x)]| X))
x: Available (x): Optional —: Not available Frame size 610|12|14/19
Code |Option
00 |Standard X|X|X|X]|X

P_ |Prepared for speed sensor |(x)|(x)|(x)|(x)|(x)

B_ |Power Boost and Prepared |(x)|(x)|(x)|(x)|(x)
for speed sensor

_T |Painted Black ()| ()] ()| (x)| (x)

14 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Installation dimensions Series F11
F11-005
(CETOP versions) Main port A Main port B
3/4"-16 UNF 3/4"-16 UNF
@11 (x2) O-ring boss; O-ring boss;
SAE J514d SAE J514d
96 max
| Drain port C
9/16"-18 UNF
! O-ring boss;
‘ ‘ ‘ SAE J514d
100 Main ports Code U
@127 max
Type € mounting flange
65
5 47.5 |
Main port B
- ‘ Approx. Main port A (BSP 1/2")
— il center of (BSP 1/2")
N N_  gravity
\/ Drain port D
(BSP1/4")
N ~
‘ w o5 Drain port C
L_, % (BSP1/4")
134 max
| Pl ‘ 1135
<~ | T—~ 88.5
|
54 J \
13 ﬂﬁ“’(/ i ;
b/ ] L N\
_ 7/ R
/g 4\ Flange C 8 R 0.7 05
40 L
| Key 6x6x30 | })_ I it
! i
Type K key shaft 4 5 M6x12 min
218 (+0.008/-0.003)
20.5
©20.3 @80 (+0/-0.046)
9 R ﬁrﬂ\rl L.
I %T/| i il ’T/I
‘ 18 {
\ 35 |
20 28 ‘
W18x1,25x13x9¢g ‘
Type D spline shaft (DIN 5480) \ ‘ 021.81

Type S spline shaft (13T16/32 DP)

15 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-006, -010

(CETOP versions)
0
13 (x2)
116 max
125
@152 max
Type C mounting flange
79 94 max
" 53 | Mai A 46
ain por .
‘ Approx. (BSP 3/4") ey
— [ center of ( )
‘ N\ gravity
‘ Drain port D
— (BSP3/8")
1 WH qabhinel

‘ | Drain port C

‘ | | 30 ~ (BSP3/8")

156 max | ] | 133
'\ Vel 101
o ] |
(0 T 1) v i
I ! A & N "\ R0S5
Flange C [
9 9 U 8
/A\
\TT\
ST
@100 (+0/-0.054)
\
16 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Installation dimensions Series F11
F11-006, -010
(CETOP versions) Shaft options
Make up/Anti cavitation valve 23
(MUVL or MUVR optional; S S I I
clockwise rotation shown). FH_L‘E;L
‘ | \ | | i | | \ |
(55 _|lljgo— 4\ RO7| ! __Key 6x6x35
\L CCw, CW 50 % 7
| _ _ - - \V I
e ]
> Type K key shaft
‘ (Std) M6x12 min
1 | @20 (+0.009/-0.004)
22.5
95 Speed sensor i Jﬁﬁ—
68 44 (optional) ; | ‘
it i
¢ —
T 35 \ gE T Key 8x7x35
l _IM10x16 min
Type J key shaft @25 (+0.009/-0.004)
(Opt.) 28

Y s
M\ Spline shaft D

| W20x1.25x14x9g;
DIN 5480

|
mmm . Spline shaft A
+ W 25x1.25x18x9g

DIN 5480

i ‘i
51.6 I ‘ ‘v
¢ 23 "
7l o4
|l 6.375
Tapered key shaft "V" \

SAE J74422-3 (B) = Y8 UNF2A

17 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-012
(CETOP versions)

‘ Main port B
152 m.ax | (BSP 3/4")
Type € mounting flange

102 53 101 \

72
Main port A
Uﬂmi (BSP 3/4") “_| .
T \ . |
‘ Drain port D
R \\m@L}/ (BSP3/8") | 3‘0
1A | O h ——— |
g Al ! I
max | | | H | 133
I N S (—
] 101 ~—" |
14 (x2) |
i | i y i
I == e BN S‘L I |
! | Flange C b
9 H
@100 (+0/-0.054)
[
18 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Installation dimensions Series F11

F11-012 _

(CETOP versions) Shaft options
Make up/Anti cavitation valve @23
(MUVL or MUVR optional; , k

clockwise rotation shown) r_rh_% _ 1 L'_H_]
N i i

1\ |
50 7 Key 6x6x35
i
[
Type K key shaf;/: | M6x12 min
(Std) | @20 (+0.009/-0.004)
225 |

Speed sensor il K
72 (45) /()ptional) ﬁ %
257 42 3.5 RN Key 8x7x35
} Wiiin] ¢ i ‘ y
'T_|IM10x16 min
@25 (+0.009/-0.004)

Type J key shaft o8
(Opt.)

-
m\ Spline shaft D
22

W20x1.25x14x9g;
DIN 5480

Lﬁ”ﬂﬁ”‘l_‘r’

Spline shaft A
26 W 25x1.25x18x9g
DIN 5480

J.e | 43
¢ 2;3 o |

] 04

/ 6.375

Tapered key shaft "V* | | 5/8 UNF-2A
SAE J744 22-3 (B) -

19 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-014
(CETOP versions)

125
150 M B
. ain port
Type C mounting flange Main port A (Bspp3/4")
(BSP 3/4") 102
| 102 ‘ 53
—F - | H \V
‘ Drain port D |
‘ / (BSP3/8") 30
4.3 =l |
157 ‘ 7( Tﬂr A
max ‘ 1 | Drain port C ! \ | 133
(BSP3/8") | | |
100
|
14 ‘
7 T 1 ‘ 1 T (I 8
i iy HH
1 | ‘ J O | N
9.5 Flange C Y R05
@100 (+0/-0.054)
20 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Installation dimensions Series F11
F11-014
(CETOP versions)
Shaft options
@27
Make up/Anti cavitation valve R *‘ -
(MUVL or MUVR optional; —— I —— 8
clockwise rotation shown) 10/ rl Lt
= |
R0.7| 4
Key
42 3.5 ) % || 8x7x35
¢ iy
Type K ‘ M8x16 min
key shaft |@25 (+0.009/-0.004)
28
Q27

Speed sensor

102 (optional) R !

50 4 Key 6x6x35

I M6x12 min
| @20 (+0.009/-0.004)

)
e
)

149 ‘*"*‘T

Spline shaft D
Hmm Hﬂﬂﬂ W 25x1.25x18x9¢g

DIN 5480

51.6 | 43
2‘3 ‘ ¢
) 04
6.375

_| '[5/8 UNF-2A

=

Tapered key shaft "V*"
SAE J744 22-3 (B)

21 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK

Hydraulic motor/pump

Installation dimensions Series F11
F11-019
(CETOP version)
@14 (x2)
126
140
@172 max
Type € mounting flange
88 63 114 max
" Main port A 54
Approx. (BSP 3/4") Main port B
center of (BSP 3/4")
v Nl gravity V @
(J Drain port D r_lk ~ A
i m BSP3/8" i) D
, . ) 25 i) @ i _
| | | Drain port"C
165 max N i ! ! (BSP3/8")
| : i T
1 1 18 ‘ ‘
$ | 38 ‘ !
¢ 100
58 _— 16 |
T ‘ T ! T |
¢ e —— — | [ [ —h~
I | |
Flange C : R1.2 -
max 10 23 i 25
: (ﬁ\
@112 (+0/-0.054)
22 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden



Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-019
(CETOP version)

Make up/Anti cavitation valve Shaft options
(MUVL or MUVR optional;
clockwise rotation shown)

228.3
Tt
I | } | I
a5 | Key
4f h 8x7x35
11
T ! ‘ M8x16 min
ype
key shaft ‘ @25 (+0.009/-0.004)
150 28
110 Speed sensor
o (optional)
57 25 L
A\ — r_rji | Lr\‘
33 | i | | i |
V! | I I
|
s L T N
S ] I
163 max | | \  Spline shaft D
! | ! (150) 28 W 25x1.25x18x9g
DIN 5480

51.6 | 43
23 !
) ! M
‘ 6.375
>\ i L<5/8 UNF-2A
Tapered key shaft "V"
SAE J744 22-3 (B)
23 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-006, -010
(ISO versions)

Q Main port B
/\ M22x1.5
| 16 deep min
2103) 72.8
( ) ¢ Main port A 1SO 9974-1
795 M22x1.5
16 deep min 95 (max)

| 79 53 ISO 9974-1 46

I P
Drain port rﬂ\ ‘ ‘
B ! M12x1.5 4l ‘
= k 14 deep min \w ‘

30
1 180 9974-1 :%@%-
— 1 | -
|
0 L~
145 11 1T 1[ I I 1L
max \ 123
92.5 ‘
l 12
i T 1 T
19.5 AN
) 7
Flange | 18.5
(IS0 3019/2) R 0.5 max

\
@80 +0/-0.046

24 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-006, -010

(ISO versions) Shaft options
Make up/Anti cavitation valve @23
(MUVL or MUVR optional; L
clockwise rotation shown) Tl—r—'— j 'lﬁ
|aE e
|
55 4\ _— Key 6x6x35
SVO (HT\ 7
- — “ih
Type K key shaft
(Std) M6x12 min
| @20 (+0.009/-0.004)
22.5
Speed sensor
95 (optional)
68 44 25° _f . = + - —T :r
i i ]
] il = ]
il ! i
i > T 3.5 o N ™~ Key 8x7x35
|
— M10x16 min
: @25 (+0.009/-0.004
145 I ——— (149) Type J key shaft G+ )
max / | (Opt.) 28
| : | | | . Iﬁi
| |
. Spline shaft D
. . W20x1.25x14x9g;
Side ports M (both sides) [ ’
M22x1.5 22 DIN 5480
14 deep min
ISO 9974-1 —— _
Only for F11-010
68 } r
|
2As (I I ‘
Vo . Mﬂmﬂ Spline shaft A
— W 25x1.25x18x9g
26 DIN 5480
|
m @ | ‘ ‘
I
L] 1 516 : w
I T ¢ 23
' ' I / T o4
mm Tapered key shaft "V" 6.375
SAE J74422-3(B) = | 5/8UNF-2A
25 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden



Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-012
(ISO versions)

10.5 (x4)
_/m—\7%_—
N K
] H-
0
f>—/g‘
(2103) 1|
Main port A Main port B
M26x1.5 M26x1.5
16 deep min 16 deep min
ISO 9974-1 1ISO 9974-1
102 53 101 Drain port
ﬁ 12 deep min
1ISO 9974-1
m
¥\ 30
147 1 ‘ ;Cf} —
max 1T T T I ! \I»r_
| | | 123
90
J : ( 12
| | 7
195 R
Flange |
‘ (1ISO 3019/2) 18.5

@80 +0/-0.046

26 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK
Installation dimensions

F11-012
(ISO versions)

Make up/Anti cavitation valve
(MUVL or MUVR optional;
_~ clockwise rotation shown)

Speed sensor
(optional)

72

A L (i
(32) !
N /@\ |
./ N
147 N i
j

)

Side ports M (both sides)
M22x1.5

14 deep min —
ISO 9974-1

Hydraulic motor/pump
Series F11

Shaft options
023
F—- - Tt
Jut I
| N
50 ZS
bl Key 6x6x35
5 |
@ M6x12 min
|| @20 (+0.009/-0.004)
Type K key shaft ‘
Std) 225

45 3.5 NN Key 8x7x35
IM10x16 min
Type J key shaft J‘ @25 (+0.009/-0.004)
(Opt.) _28.
I T\_'_f'_"—!‘q'
(i ! [
| | |
‘ Spline shaft D
‘ W20x1.25x14x9g;
29 DIN 5480
F—-—-—- Y
i I
24\8 mm\ Spline shaft A
W 25x1.25x18x9g
S DIN 5480
|
'[Tw_ I
L ]
51.6 | 43
28 |
A ™24
6.375
Tapered key shaft "v" _| | 5/8 UNF-2A

SAE J744 22-3 (B)

27

Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK

Installation dimensions

F11-014
(ISO versions)

(@103)

7 95

10.5 (x4)
09 (x4)

R4.5 (x4)

Type I mounting flange (ISO 3019/2)

102

53

Drain port D M16x1.5
" (depth 12; ISO 9974-1)

Flange |
(1SO 3019/2)

21

Drain port C M16x1.5
(depth 12; 1ISO 9974-1)

Hydraulic motor/pump
Series F11

Main port A Main port B
M26x1.5 M26x1.5
16 deep min 16 deep min
1ISO 9974-1 ISO 9974-1
101
’&‘
| | |
| ! ‘

30

123

18.5
! 6.7

. R 0.5 max

@80 (+0/-0.046)

Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden



Catalogue HY30-8249/UK
Installation dimensions

F11-014
(ISO versions)

Make up/Anti cavitation valve
(MUVL or MUVR optional;
clockwise rotation shown)

Speed sensor
| (optional)

139

Side ports M (both sides)
M22x1.5

14 deep min

ISO 9974-1

=

Hydraulic motor/pump

Series F11

Shaft options
@27
ot
1 ! |
T ‘ T
\
¢ R
42 % [ Key 8x7x35
NN
)y Iy
A ‘ | ‘M8x16 min
3.5
H @25 (+0.009/-0.004)
Type K
key shaft 28
@27
| | |
| N
50 7 2
/jj Key 6x6x35
I 1
¢ M6x12 min
Type P key shaft 1220 (+0.009/-0.004)
22.5

28
v

I}

| Spline shaft D
W25x1.25x18x9g
(DIN 5480)

51.6

6.375

;
2‘3
A/ 1
Tapered key shaft "V} _|

|_5/8 UNF-2A

SAE J744 22-3 (B)

29

Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden



Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-006, -010
(SAE versions)

29° (x4)

122 max

,,@,

\1\ Main port A Main port B
11/,"-12 UN 11,612 UN
O-ring boss; O-ring boss;
‘ o SAE J514d SAE J514d
146
177 (max)
79 53
|
N
B ‘ Drain port 9/,¢"-18 UNF
/ /O-ring boss; SAE J514d
N T }
1 i T LLr_
156 max i
1 |
-
N 102
17
(x2) |
R I
] ‘ ] H i
1 I e — I \ T I
N Flange S
size 101-2 SAE B 9.5
‘ SAE J744c

@101.6 (+0/-0.05)

30 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Installation dimensions Series F11
F11-006, -010
(SAE versions) Lo
Make up/Anti cavitation valve .
(MUVL or MUVR optional; Shaft options
clockwise rotation shown)
@23
N * [ \4/%
| | | !
[ | | [
D . e s O B
Dk
50 %ﬁff/ | Key 6x6x35
7 VLY
\
/‘ M6x12 min
Type K key shaft \\@20 (+0.009/-0.004)
95 Speed sensor (Std) ‘ 095
(optional) . :
68 44
25° S
( A ) il
T ' 8 \—‘—o—‘—//
- ;! B ;!
- ~ ST J o
/ é}
(149) 42 3.5 \ \ " Key 8x7x35
156 max T N ¢ il
1 \ M10x16 min
— Type J key shaft @25 (+0.009/-0.004)
(Opt.) 28
~ | Bl e —
I ‘ I
T 8 W
| — ! N ik
i ‘ I P | ‘
H N f
i L] =
! )h Type S spline shaft
SAE B, 13T, 16/32 DP
‘ (SAE J498b, class 1;
30° involute spline;
flat root, side fit)
7 o
I I I
¢ 1]
51.6 Y ! 43
¢ 23 | |
] / 04
Tapered key shaft "V*" 6.375
SAE J744 22-3 (B) _| | 5/8 UNF-2A
31 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden



Catalogue HY30-8249/UK

Hydraulic motor/pump

Installation dimensions Series F11
F11-012
(SAE versions)
R 14 (x4)
_ 29° (x4)
122
A
. 014.4
(x2) Main port A Main port B
11/,6"-12 UN 11/,6"-12 UN
O-ring boss; O-ring boss;
146 SAE J514d SAE J514d
174 max
102 53 101
—
[ =
i \ Drain port %,4"-18 UNF
N \ / O-ring boss; SAE J514d
1 B 11— |
g w I
1 g = "
158 max ‘ | | | 133
@24
(x2) 102
17 =
(X2) | | 95
e — ] e
! ( S J ! S —— N 4\\
R 0.5
Flange S -
size 101-2 SAE B
SAE J744c 255
@101.6 (+0/-0.05)
32 Parker Hannifin

Pump & Motor Division Europe

Trollhattan, Sweden



Catalogue HY30-8249/UK
Installation dimensions

F11-012
(SAE versions)

Make up/Anti cavitation valve
(MUVL or MUVR optional;
clockwise rotation shown)

Speed sensor

45 (optional)

158

33

Hydraulic motor/pump

Series F11
Shaft options
@23
_ _ _ _
0 ) L
T
i } i I S ] | 1 i
50 . ﬁ Key 6x6x35
I
| .
M6x12 min
Type K key shaft @20 (+0.009/-0.004)
(Std) 225
8 ] J\}_/k ™
LI Lt
1 l = i S [ T
4\L2 35 M Key 8x7x35
M10x16 min
Type J key shaft @25 (+0.009/-0.004)
(Opt.) 28_|
8 [ J\‘/LL*j
Ll Lk
[N B i B o
SVS M Type S spline shaft
o3 - SAE B, 13T, 16/32 DP

(SAE J498b, class 1;
30° involute spline;
flat root, side fit)

51/.?6 | U | 43
¢ 23 |
I o4
6.375
| 5/8 UNF-2A

Tapered key shaft "V*"
SAE J744 22-3 (B)

Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK

Hydraulic motor/pump

Installation dimensions Series F11
F11-014
(SAE versions)
R 14 (x4)
29° (x4)
120 ﬁi
@14.5 (x2)
146
174 (max)
Type S mounting flange SAE 'B' ( SAE J744c) Main port A Main port B
11,612 UN 11,612 UN
O-ring boss; O-ring boss;
SAE J514d SAE J514d
102 53 101
%
! | ! \V
T Drain port D %/,4"-18 UNF + ‘ + |
_~~ O-ring boss; SAE J514d ‘ 30
e e
158 — f —
! 133
max \ ! Drain port C I
\ 9,6"-18 UNF
‘ 102 O-ring boss;
17 924 (x2) ‘ SAE J514d
(x2) ‘ ‘
1 9.5
|
‘ J
R 0.5
80
|
@101.6 (+0/-0.05)
34 Parker Hannifin

Pump & Motor

Division Europe

Trollhattan, Sweden



Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-014
(SAE versions)

Make up/Anti cavitation valve
(MUVL or MUVR optional;
clockwise rotation shown)

72 45 _ Speed sensor
(optional)

151

35

Shaft options

L

v

et
|
V

N\,

i \
Key

6.35x6.35x31.8

)

‘ 5/,6"-24 UNF-2B

Type T key shaft
Size 25-1 (B-B)

‘ (depth 16)
@25.4 (+0/-0.05)

(SAE J744c) 08 1

@80

I

K
T

I

—

I

24

\
Type S spline shaft
SAE B, 13T, 16/32 DP
(SAE J498b, class 1;
30° involute spline;
flat root, side fit)

-

)

23

J.e V
¢ |

|
b

4¢3
04

6.375

|_5/8 UNF-2A

Tapered key shaft "V" —

SAE J744 22-3 (B)

Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump
Installation dimensions Series F11

F11-019
(SAE version)

014.4 (x2)

14 R

146.1

@176 max

Type S mounting flange SAE ‘B’ (SAE J744c)

63 114 max
11 Main port A* 54 Main port B*
1 n_ 1 n_
AppIox. (1'/46"-12) (1'/46"-12)
center of
gravity @ @
J Drain port D*
M (I (%4"-18) d @ [ o
: : e e ;
| Ny A— 2 TN
181 max % % i % ‘ % Drain
| | 155 | ? | pOI’t (o
9,5"-18
117 | (T16718)
74 17
V. 9.6
B B
&
i
i \
101.6 (+0/-0.05)
\ |
* O-ring ports according to SAE J514d
36 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump

Installation dimensions Series F11

F11-019

(SAE version) Make up/Anti cavitation valve .
(MUVL or MUVR optional; Shaft options

clockwise rotation shown)

61 cc cwW
- = @ 28.3
65 8 ‘ | | ‘
B \_?_,_/ B
N L == Ll
— = L
381, & R1.0
il || ™ Key 6.35x6.35x31.8

(optional) 9/16"-24 UNF-2b

110 (25°) Type T key shaft (depth 16)
SAE ‘B-B’ (SAE J744c)

1
Speed sensor ‘ ‘
I

25.4 (+0/-0.05)

83 49

28.1

W
==

I

181 max

R Type S spline shaft
-— | > SAE B, 13T, 16/32 DP
(SAE J498b, class 1;
U 30° involute spline;

flat root, side fit)

0 ¥‘/

51.6 | | 43

23 v

) T 24
6.375
_| | 5/8 UNF-2A
Tapered key shaft "V" —
SAE J744 22-3 (B)

37 Parker Hannifin

Pump & Motor Division Europe
Trollhattan, Sweden




Catalogue HY30-8249/UK Hydraulic motor/pump
Notes Series F11

38 Parker Hannifin
Pump & Motor Division Europe
Trollhattan, Sweden




